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Associative Property, 3Y4A, 35A
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~Ideas and materials on how to feach the concepts
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~Easy to print and prep
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Easy fo Print Activities, Games, and Fun Stuff that help
students stay engaged during your math block
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Activities that are easy to cut and glue into math

spirals/inferactive notebooks
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Cards that you can display on a math word wall or bulletin

board
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I Can Statements can be displayed throughout the unit.
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MULTi Di9iT ADDITION'

S. The principal had 456 red
pencils and 28 blue pencils. How
many pencils did the principal have
in all? Show your work.

(56+) +20=(20:56) + 4 | = 1%

|. Which property of addition
does this problem show?
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The boys collected 528 ¢
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. Which type of subtraction girls in the school. There were 46 g,r|5 collect? Show you l§ Addition, Subtraction, Estimating Solutions & Word Problems X
rule does this problem follow in | teachers. How many more boys 624 .
the ones place? than girls are there in the school? .
756 Show your work. .

-236 a | 7H L Which property of oddition does| 5. On Friday, 278 children came |3

this problem show? to the museum. If 126 less 2

(86+1 B/ q If you estimated the sums, | B.  If T have 7M stickers in my
collection at home and 29 stickers
in my collection at school, about
how many stickers do I have
altogether?

3reck apart the addend:
re the problem.
29 + 187

which two numbers would be

S. We watched 2 movies this about 90?

weekend. The first movie was 243
minutes long. The second movie
was 180 minutes long How much
longer was the first movie than the
second movie?
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2. What is the answer to o
subtraction problem called?

ESTIMATING SOLUTIONS

5. If there were 26 girls and

10. If you estimated the
difference, which two numbers
would be about 300?

a.  sum M Solve the problem 500 - 276

difference
c d giTs

Jame

|. If you estimated the sums,
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3. Solve the pr?bl.im which two numbers would be | 52 boys are the playground,
) about 70? about how many children are H3 L Bt ok
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$ . there altogether? ¢
a. 3and 72 a. 60 o Mond46 - 5. Breok opart the addends fo
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4. Do I need fo regroup to c. 36and 29 c 78 317 + 49
solve this problem? 320-186 b. 37lond269 __________
- H T 0
’ 2. If you estimated the S. I went apple picking with R1

differences, which two
numbers would be about
200?

a. 437 ond 293
b. 283 aond 299
c. 384and 637

3. Estimate the sum of 274
and 329:

Y. Estimate the difference of
183 and 362:

my family last Saturday.
We collected 46 apples.
On the way home, we
ate 13. About how many
apples are left?

Explain your answer:

2. Estimate the difference

of each:
a 9Bond M
b. 736andI83




